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Which structures could most likely be observed in
Gells i the lowpower ield of acompound ight
microscope?

(1) cell walls and chioroplasts

(2) rivosomes and chromosomes

(3) vacudes and oxygen

(&) carbon dioxide and mitoshondria

2 Wich organeles mustbe presentwitin  cll of
5 goraniom ot for respiation and protosymihess o
oceur?

(1) coll wall and cyloplasm

(2) mitochondin and rioroplast
(3 coll membrane and nucess
#) vacuolo and rbosome

3.1n the diagram of a cel below, the strucure
Tabeled X enables he cel to

(1) release energy
(2) store waste products

(3) controlcoll actties
@) manufacture proteins.

4.1 tha ribosomes of acellwere desiroyed, what

it would this mast ikely have on the cal?

(1) Itwould stmuiate mitotic ol division.

(2) The coll would bo unable o synihesize protins.

(2) Dovelopment of abnormal hereditary features
wouid accut i th cal.

(4) Increased protein absorption would occur through
the cell membrane.

5.Which sinuctures cary out e functions within
Gals?
(1) tsuss
(2) organ systems

(3) organslies
(@) organs

__6.Certin poisons are toic {0 organisms bocause
ey intrfre wih the funcion o onzymes in
milochondia. This resus directy i the nabilty of the
clto
(1) storo information
(2) buid proteins
(3) release energy from nutrients
(&) dispose of malabolc wastes.

__7.Wrich sequence shows a decreasing leve of
Gomplexity?
(1) organs sorganism cells - tisuss
(2) orpanism —» cals -»organs -» lissues
(3) colls - tissues —» organs » organism
{8) organism —sorgans » ssues -scolls

8.The diagram below represents a cell.

Which statement concering ATP and actiiy withn
the ol s corroct?

(1) Tne absorpton of AT occurs at sructurs A
(2) The synthesis of ATP occurs within stucture B
(3) ATP s produced mst offiienty by structure C.
(&) The tomplate for ATP is found in structur D.

9.The dlagram below represents two cels,
Xand Y.

cell Y

Wihich statement is correct concorming the sructure

Iabsled A7

(1) I aids i the removal o metabalic vastes n both
coll Xand Goll Y.

(2) Iis involved in cal communicaton in el X, but
not n ol .

(3) It provents the absorpton of CO, i cell Xand 0,
incell Y.

(&) ltrapresents the calvall in il X and tho col
membrane in oo .
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(1) ribosomes, which have chromosomes that contain
many genes

(2) ribosomes, which have genes that contain many.
chromosomes

(3) nucieus, which has chromasomes that contain
many genes

(4) nucleus, which has genes that contain many
chromosomes

__12. Which statement best explains why some calls in
the reproductive system only respond to certain
hormones?

(1) Thesa cells have differant DNA than the cells in
other body systems.

(2) These cells have specifc types of recsptors on
their membranes.

(3) Reproductive system cells could be harmed f
they made contact with homones from other body
systems.

(4) Cells associated vith the female reproductive
system only respond to the hormone testosterone.

13. The diagram below shows the relative.
concentation of molecules inside and outside of a cell.

0 - Oxygen
Yt - Glucose
0 =Carbon

Goxiae

Which statement best describes the general direction
of diffusion across the membrane of this cell?

(1) Glucose would diffuse Into the cell.

(2) Protein would diffuse out o the cell

(3) Carbon dioxide would diffuse out of the cell

(4) Oxygen would diffuse into the cell

74_The Giagram below shows molecuies represented
by X both outside and inside of a cell

X X
X
X X X X
% X
X X
X X
X
X > %
X X X

A process that would result in the movement o these.
‘molecules out of the cel requires the use of

(1) DNA () antigons

@) ATP (@) antibodies
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5. The diagram below represents a plant cell n tap
water as seen with a compound light microscope.

Which diagram best represants the appearance of the
cell after it has been placed in a 15% salt soluton for
two minutes?
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